5/20/2015

Print Test

PRINTABLE VERSION

Quiz 11

You scored 100 out of 100

Question 1

Your answer 1s CORRECT.

Use the appropriate angle-sum formula to simplify the following expression:

cos(3x) cos(10x) - sin(3x) sin(10x)

sin(-7x) Cos (A+B) = CosA cos B -sinAsin B
sin(13x) A=3x B=lox

cos(30x) Cos (3xtlox) = Cos LI3X)
cos(-7x)

cos(13x)

f)  None of the above.

Question 2

Your answer 1s CORRECT.

Use the appropriate angle-sum formula to simplify the following expression:

d)

f)

sin(5x) cos(4x) - cos(5x) sin(4x)

cos(9x) Sin(A-B)= sinA¢os B-cosAsmB
sin(9x) A=5x
B =4x
cos(20x) .
S'n (Sx-4x)= stn (XD
cos(x)
sin(x)

None of the above.
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Question 3

Print Test

Your answer 1s CORRECT.

Given cos(x) = with 0°<x<90° and cos(y)= 14 with 270° <y <360°. Find cos(x + y).

- shiy) :"'lﬁ
1+24J2 5 -2y Y
oG il o
! Sined = 200
R cos(x)= ! ¥ : =
35 1,2 72
b) (55) 124q%- S o -5' | == 3
1153 a% 24 W * 3 o 48
0 az= 2V, b= W3
1+20,/3 Cos (x+Y) = CaS(X) Cos (.3) = s (A shiy)
§o 069 ( )L N (a_r)( qJ")
1+4./78
¢) (35) = I, g-\h_g | + ZqJ‘
3S 3s 3s
f) ~ None of the above.
Question 4
Your answer 1s CORRECT.
Given sin(x) = %, with 0°<x<90°, and sin(y)="'/4 with 0°<y<90°. Find sin(x + y).
Sinx= A
182 —J19 lo 3 o
D0 B <d 9 ' st Vi
91 > = © D)
En) 2 2 32 '
b) a*+ ‘i";lo" b | 3 Sun:j: -%-
e [ T BT a’s o0 -8 b*=9-|
@ [303 ~ Co.sn-_- lJ—L
Q= 19 L = 22 3>
92 +1 a=Viq
d) (30) Shx+g) = Sin%X C.D.S “+ CoS K Sl"\
' J
zJT. JF IS\F J1q
4J5 70
30
o 1%~I‘£+Jﬁ’
= 2110
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f)  None of the above.

Question 5

Your answer 1s CORRECT.
Given sin(x)=3/7 with 0° <x<90°, and sin(y)='4/5 with 180° <y <270° Find cos(x - y).
F 3
11 + a’t3t. 32
a) (35 A a*: 4o
a2 “ s -'-os5=-3/5 a=2dip
b) 7 . 3
Snx =3 Sing = =% by g2
s
610 Cos X = 2o L9
0) (33) ¥ -
L-__;
2430
d) (35) Cos x-y) T ¢Cas ¥ Cas:, + S\nXk Sc'nj
-4
~6J/10 — 12 (" 2 "3/5) +( %) ( /s)

| (35)

s 'b\‘——l.‘: - -bm‘ll
f)  None of the above. 3S 35 3S
Question 6
Your answer 1s CORRECT. Sin2X = 2Sin X @SX
Given sec(x)=-9 with 90° < x < 180°. Find sin(2x). Ccos ) = %..

o 9
—ﬁﬁ b b\ Sin X = ‘-_r_J;s—
' 9

=5

b) 45\ /-1 )
1I*¢p 2. 9% Sih 2x= 2( ECH (7-.-"
8 -

_?ﬁ La

¢) -
-80 SII"\ zx': _9 \rg

_2 e b=4Js S|

d) #1
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4
e) _ﬁﬁ

f)  None of the above.

Question 7
Your answer 1s CORRECT. SINn2XZ> 2sinK¢eos X

Given sin(x) = '7/8 with 180° <x <270°. Find sin(2x).

Sinxz= ~ %
3 = 4"+a1.= g* P
_E 15 I¢ 1- Is
! 2 o cos x= -V
3 § Q= \lls 3
s
b) 4 J—
. - -JIS
Sn(2x) = 2 -3 NI
@ 3?_2 /15 L ) ( 8’)( ¥
= His
V15 32
d) L
1
o TR s
f) ~ None of the above.
Question 8 Cos (2x) = Cog > X = sontx
Your answer 1s CORRECT.
: - =1
Given csclx) =-5 with 270° <x<360°. Find cos(2x), > O9T /S
\ QL-l-l)': S'l'
(-

23/25 :_
b) 1 o a= 236

- 2 -1\
¢ -2 Cos (2x) = L%:.) - ( r-
24
d) /25 24 _ N 23
25 25 2s
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f) ~ None of the above.

Question 9
Your answer 1s CORRECT.

Tan (2X) = 2 tanx

Given cos(x) = 1/3 with 270° <x <360°. Find tan(2x). l—.‘.MJ. x
_% ‘JI’E = ; Gzi-l 2'=. 3:‘
a) 3 a at- g
4 az 2z
—=yf 2
@ 7 Ve tan x= - 292
5 |
~Jz
oo 3 RS N S
toun 2X= 2 ( \ . — = 4V2
4 — - -7 o
AT
a 7 [ - (®) *
2
— 4 2
e) 7 J_
f)  None of the above. o
Cos [ X\ = IJ | + Los X
Question 10 ( 2')
Your answer 1s CORRECT.
|$0 < X< 23D
Given cos(x)="1% with 180°<x<270°. Find cos( % ). Ye * = me
a) © V2 Cos (—z’-‘_-)z_\Jfl-t-L-lls)
A
7
- - Vs - 4
b S 2 = Sz
<)
L T = - \l =
d 3 10
_gﬁ - -2 - -2J10
0 7 (> 1o
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f)  None of the above.

Question 11
Your answer 1s CORRECT. Sin ('_;S;) =, ’ V= cos X
2

Given sin(x) = \/5/3 where x is an acute angle. Find sin( %5 ).

\b%&anWAi

~JE
@ ¢ 3 \ - ’7’3
i = Is Sin [ z.)
—f 14 o-
b) 6 ‘ L .2
¢) 15 (s 1: q9-S +
! Q-=r > \’ L
d) ? ﬁ o
1 - Je
&) 3 Vo b
\[ L+ Cas X
f)  None of the above. Ce5 ( 1...)
Question 12
Your answer 1s CORRECT. o,.J-‘S-

Evaluate: / Ji

g
go 2VEV2 M |+ cos (3
. cos(—;:)- —
GO o
b) 2 B
5 R
1 1 - \ -V, i
¢) _IE_FIE { 2 = r
o T - Nz2-3
2
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C W (0
O
f)  None of the above.

Question 13
Your answer 1s CORRECT.

Use the appropriate angle-sum formula to simplify the following expression:

cos(6x) cos(4x) + sin(6x) sin(4x)

a)  sin(2x) cos (X - ﬁ) = S CoS ﬂ + sinet s'.'nﬁ
cos(2x) X=X ﬁ = 4K
¢)  cos(10x) Cos L l,,( _I+)() = ¢as Lz*)

d)  sin(10x)
e)  cos(24x)
f) = None of the above.

Question 14
Your answer 1s CORRECT.

Use the appropriate angle-sum formula to simplify the following expression:

sin(8x) cos(5x) + cos(8x) sin(5x)

a)  sin(3x) sin (ot 1P) = sinx cos B + cosot sin P
b) = cos(40x) X = 8x ﬁ = SX
(O © sin(13x) scn (8 + Sx) = g‘-.\L\Jx)

d)  cos(13x)
e)  cos(3x)
f) ~ None of the above.

Question 15
Your answer 1s CORRECT.
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Use the appropriate angle-sum formula to simplify the following expression:

cos( Yy ) cos( g ) - sin( % ) sin( g )

a)  sin( 17n/72) cos (x '1'/6) = coSeX CDS_F - sin anﬂ
b)  cos(/72) X = 117‘1 ﬂ - T78

17n q
B i D )

d) " sin("/72) 2
_n = s (Y30
€)  cos( /72)

f) = None of the above.

Question 16
Your answer 1s CORRECT.

Use the appropriate angle-sum formula to simplify the following expression:

c0s(170°) cos(45°) - sin(170°) sin(45°)

a)  sin(125°) cos (o¢ + ﬁ) = Cosoccos P —Sine sin ﬁ
cos(215°) X= 30 P45
¢) c0s(7650°) Cos ( S +‘+s) = ¢os (zlg)

d)  sin(215°)
e)  cos(125°)
f)  None of the above.

Question 17
Your answer 1s CORRECT.

Use the appropriate angle-sum formula to simplify the following expression:
sin( 2% ) cos( % ) - cos( 2% ) sin( % )

a)  sin( s)
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b)
@
d)
)
"

Print Test

cos("27) Sin(x = A) = sinet cos B - cosx st'nﬁ
sin( /18 ) x= 2Wgq B=T7_
s () = s () = (g
cos(/18)

None of the above.

Question 18
Your answer 1s CORRECT.

Use the appropriate angle-sum formula to simplify the following expression:

b)
©)
)
)
f

sin(250°) cos(75°) - cos(250°) sin(75°)

Sin(x-B)= Sinetcos P - cosex sin B

sin(325°)
cos(18750°) xX=250 B:3S
sin(175°) - .
Sin (250 -FS) = $'n (135)
c0s(325°)
cos(175°)

None of the above.

Question 19
Your answer 1s CORRECT.

Given sin(x) =/ with 90° <x < 180°, and sin(y)="%; with 180° <y <270°. Find sin(x - ).

®
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Lﬁ-f——l Sin(&-j\'—"-s:'n)(CGSJ- LoS)QSa'v\J
a 12 : 3 )( J5 R\ ,_2
e T e, T > + 3
¢) ; . = 'E _J=
“ G
f)  None of the above.
Question 20
Your answer 1s CORRECT. Cos (o¢ + B) = Casol. @ﬂ - sinot 5,'nﬂ
Find cos( >}, ) using the sum or difference formulas.
1 3 I 2"‘ + IO
a) 3 V3 Cos L ) C.os( b)
1 = I . T\ [ I
b) 5 J2 Cﬂsl*)m(‘g)—ﬁn“‘:)ﬂn“‘)

o S B (B

d) ﬁ(;ﬁ = —JE-.-E = J:—J—L
4 T ™

1
— ./ 6
e) Er

f) = None of the above.
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